www.atlantis.com.tw

VEGIR

fhERX / SMER
VABRE

27 mm

VEEFO
M10x1,M12x1.5,1/8" PT
1/4" PT,G1/8" ,G1/4" ,
1/8" NPT, 1/4" NPT
VENEHE

0.3 to 100bar

(< 20bar B UL 3%
VAR

MBI EENRISSUR S
VIERE

-10~+100°C (iF#)
-30~+100°C (fE)R%Y)
VIEMY

10G/5-200Hz sine-ware

VREME

B(BHEAY) / A 316/ =il
ViRIEME

NBR / Viton / EPDM
VRS

SPDT

VIEER /| ER
2A/50VDC, 4A/250VAC
VT EED

2Hz

VS E R

1.5KV

Vv Btz EMH

100MQRL =

ViEE

+0.1bar/ +0.5bar /+5% F.S.
(FLERNHEREE)
\&-TVENT

1.5 x 10° cycles (< 50bar)
VIZZR N

<0.35Nm
EBEEE (TJEE/ERE)

Code BEE BE

RS1 0.3~0.9bar *0.1bar
RL1 1~9.9bar *0.5bar
RL2 10~19bar *5%F.S.
RM1 20~49bar *+5%F.S.
RH1 50~100bar *5%F.S.

FERE HAh R4

ATIANTIS

M\ SR I FRE
BUSE: AT-PS275
BT

AT-PS275 BIFERBERIREERIR « SERENRIR « 22
Bt ~ BERMARASISTRNE IR AIFEEE - BifR
RN EREESE - EBEBNARBEEZ I -
FERRRLIS R IBERRA, RV EET TR SRR -

COITQSive]
k&)

HeE

TRLIRIE T RIFRIFEMES)
ORI RN R RIS
BNSERZEEZHIRE

BERAE - SmENE7IHE




ATLANTIS

Al 50 -
|t -
HREET\ NE
*A:9mm - M10 x 1 (taper), M10x 1,G1/8" ,1/8” PT,1/8" NPT  *A:12mm-M12x15,G1/4" ,1/4" PT,1/4" NPT
BfI : mm
oy =R
AT-PS275 B\ oI R R
Code BEE
B FEEURBR)/EERDESEER
EIEHEARES
Code =EIO
MO M10 x 1 (taper)
M1 M10x1
M2 M12x1.5
1P 1/8" PT
2P 1/4" PT
G1 G1/8"
G2 G1/4"
N 1/8" NPT
2N 1/4" NPT
Code AEME
Z # (BELP)
SS R 316
B =i
Code R E
N NBR
Vv Viton
D EPDM
NL NBR ({&i&-30-100°C)
VL Viton ({&i&-30-100°C)
DL EPDM ({i&-30-100°C)
Code EiRET
P HERETN
E Nz
Code HAthFRK
/A BoPREBERS
/B BIEERS
/C mhE
M ro [ > [ s [ v [

www.atlantis.com.tw




